Properties of a parallelogram and rectangle
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So how can we apply the properties to proofs?
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1. In the accompanying diagram of rectangle ,  and .  What is ? 

a. 12
b. 37
c. 40
d. 50


2. In rectangle ABCD, AC = 3x+15 and BD = 4x–5.  Find the length of .  (Draw a picture)
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3. As shown in the accompanying diagram, a rectangular gate has two diagonal supports.  If , what is ?





4a) In the accompanying diagram of rectangle ABCD,  and
   
Determine the measure of <CAD
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b. Using your answer from A and given AD is 10. Determine the measure of CD to 1 decimal place



5. Use the properties of parallelograms to solve for the unknown angles 
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Regents ready
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Exit ticket
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Exit ticket
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Given: £7 ABCD
DE = FB

Prove: a) ADEA = ABFC
b) £1 = Z2

STATEMENT

1. Given
2.
3.
4. Given
5.
6.

REASONS
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In the accompanying diagram of rectangle ABCD,
mZBAC=3x+4 and mZACD =x +28.
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TUVW is a parallelogram.
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CDEF is a parallelogram,
CG LFD.
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2 Quadrilateral ABCD with diagonals AC and BD is
shown in the diagram below.
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‘Which information is no enough to prove ABCD is
2 parallclogram?

1) 4B=CDand 48| DC

2) CDand BC = DA

3) CD and BC || 4D

4) 4B||DC and BC | 4D
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1 In quadrilateral BLUE shown below, BE = UL.

B L
E U

‘Which information would be sufficient to prove

‘quadrilateral BLUE is a parallelogram?

1) BL||EU

2) LU ||BE

3) BE=BL

4) LU=EU
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In the diagram below, parallelogram ABCD has
diagonals AC and BD that intersect at point £.
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‘Which expression is nof always truc?
1)
2)

3)
D)
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3 Quadrilateral ABCD has diagonals AC and BD.
‘Which information is ot sufficient to prove ABCD
is a parallelogram?

1) AC and BD bisect cach other.

2) 4B=CDandBC=AD

3) 4B=CDand 4B||CD

4) AB=CDand BC | 4D
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In parallelogram QRST, diagonal QS is drawn.
‘Which statement must always be true?

1) AQRS is an isosceles triangle.

2) ASTQis an acute triangle.

3) ASTQ=AQRS

4 0s=Qr
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Parallelogram ABCD with diagonals AC and BD
intersecting at £ is shown below.
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‘Which statement must be truc?
1) BE=CE

2) LBAE= /DCE

3) 4B=BC

4) ZDAE= ZCBE
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1. Prove a quadeiateral with vertices G(1,1), H(S,3), 1(4.5) and J(0.3) i a ectangle.
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RECTANGLE
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Given: ABCD is a rectangle
M is midpoint of 4B

Prove: DM =CM




image4.png
Statements Reasons
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